Hierarchical Example Pedestrian Crosswalk Signaler

button_push

fr Traffic Stopping ﬁ\
entry:

set_traf_light(yel)
start_countdown(5888)

courntdown_complete

.7

Traffic Flowing

entry:
set_ped_light(red)
exit:

cancel flash{unusaed)

flash_complete
¥ ¥
(" velight on ) ( vel Lght OfFf )
entry: entry:

set_traf_light(yel)
start_flash{g&@a)

set_traf_light(blk)
start_flash{&ea)

- vy

f/f Crossing Countdown ﬂx\

exit:
cancel_flash{unused)

flash_complete

flash_complete

. /

f Yel Hand on \ f Yel Hand OFF \1

entry: entry:
set_ped_light (yel) set_ped_light{blk}
start_flash{488) start_flash(6aa)

exit:
update_ped_time()

(H-Pedestrian Crassing-ﬂw

entry:
set_traf_light(red)
set_ped_light(grn)
start_countdown | 5868)

countdown complete
J/ update_ped_time()

Note:
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